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Bernoulli_const B
{B,k}=search_name(""Bernoulli_const")
( )
¢ ()
n=(5-1)/2
30 ) o0 100
4pk
(Zp)zn ! Bonioak 100 © (1 2n )

kZ'( 1) (2n+2 4k) (2"()' (2n+2 2k)| =1 k2n+1(62pk_1)2

=1.03692775514336992633136548646

C (5)=1.03692775514336992633136548646
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Laplace

Laplace

4s"+2s°-67
s°455°-125"+285°-125%+25+123
0.741086715-1.1667342_-0.169705085-0.19071969 -0.40035634 -0.17102529
s?-3.11920585+3.8995381 s°-0.375365385+3.436221 S+/-223988  s+1.2706731

partial_fract_ decompose (

+ +
s?-3.11929585+3.8995381 s°-0.375365385+3.436221  S*7-223988  s+1.2706731
-7.22399t

L _1{ 0.74108671s-1.1667342 +—O.16970508$—0.19071969 -0.40035634 —0.17102529}

-1.27067t 0.187683t

=-0.400356e -0.171025¢ -0.120688e sin(1.84418t) -
0.169705e”'%7%%% cos(1.84418t) +0.954282¢"****'sin(1.21121t) +0.741087e" **°®*'cos( 1.21121t)
Laplace
(1000 )
|EEE754
100
N3i_

e =-0.16055653857469062740274792907968048154164433772938156243509084009384370
90841460493108570147191289897 + 0.987026644990353783993324392439670388957092614
1447649573078886400405406821549361039745258003422386169i

In 1000 1000

In(10x10™) =11515.2280500632224657739752648765054022131085446 3249365

I'(800)=9.63816264169232505180799247218785450744445502270012798954263742542463564
7838663367088634622444237914x10"° "

arg 1000 1000

arg(2.1+4.31) =1.1164942401015804045599996335 7682026651 78626 7444001651804088400915
4937431479787748820492817064272144



sin(2+3i)=9.15449914691142957346729954460983255915886056876518297789983 - 4.1689069
59966564350754813058853754843573565604 75805588996548i

cosh(0.67+0.421) =1.12581396362903352084340658926129142776001439076146577506317 + O
.2941030868678611721306428905406121075210298921939053638538641

4.123i
(W7) " =-0.64490212193577285497026146275426078819049287686342356664184741509760
73832868657670217588474412005407 - 0.76426517199381626684618627815446093860585865
98600781922466900442423807903774724203913634587961376050i

n \ z
), (2
J,5(3.09)=0.42404095708346614898163077518321990582735778536032
J5(W/3+A/Ti) =-0.044776521185492601345775728206910671728074622999615
+ 0.191297283636313091432818558405495553221 789080801951

-nJ (X) +xJ, 4(X)
X

d
&‘]n(x)_

Yy (2)
Y £ ,(12.5) =-0.23558113508182117448112000638411323643764 704098096

1 .
Y 4(§ (W3+4Ti )) =2.106872654055747060238429428283024821108 + 9.6886

97193026150506992235632635764300182i
XY 5(X)-4Y 4(X)
X

d
&Y4(X)—

H(2)
HP(2)
1(2)
1 ,(0.378) =0.00113529588528147

1 : :
|5(§ (W3+ATi )) =-0.000956400876853642 + 0.000781172472933835i

d I -3l
) =203
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(3]
T

y=I 2( X)

y=I 3( X)

y:I4(x) sl

K,(2)
Ho(2
Li(2)
Ln(2)
T.(2)
U,(2)
sin si(2)
Si(12.6)=149220613972864 5 :JX L
Cos Ci(2)
E.(x)
W W(2)
2 (9
( (5)=1.0369277551433699263313654864570341680570809195019
¢ (7.24)=1.0070225504117351918432522700160108553839889355677

(=3 =

0
Si(12.6)=1.49220613972864

In

;2+3i ) =-3.12472212875648 + 13.8634771324033i

N |~

OFl( ;

1.3
zFl(E,l > ;0.5):1.24645048028047

ispolynomial
Pochhammer symbol
(8)5=1235520 8x 9x 10x 11x 12x 13=1235520

Pochhammer symbol



arr =arr,+n

for

_get_term( n,% )
var 1,1r,M, g
i=|n |

fr=n-1i

rM=(%an’n!
1

[({1+fr,15)
H+Hr

1k

k=k+fun(t)
break k 100
last
goto
k=k+n
a=C (k)
last a>1.000023
n=2n+1
100
_get_term( ,%Z )
var 1,Tr,M,g
i=n |
fr=n-1
n
M:(%) /n! =0
_ i
{E T+m15)
i+
hM=g(%) /(1+),

return M

| MZg(%) /(1+f),

return M

_get_term( n,z )
var 1,ir,M, g
i=|n]

fr=n-i

fr

0

f .

M:(%) /nl

T

T(1+f,15)
I+

| M=g(%) f(1+£),

g:

fr

0

return M




symbolic_calculus
symbolic assign
replace

function

prime_factor

factor
stop
appeare_cnt stop
appeare_cnt get bind eq
get bind eq SQPE
SQPE symbol factor
function_name ID
appeare_cnt 378
get bind eq 408
SQPE 736
setup 144
factor 1609
fact 2287
symbol_factor 2316
symbol_factor_main 1
AL UT -
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=0t / .
ETRETN
2 b i
FrFHOBERH)
EHTN): Shest] e Ml
wroEe: [FEmn ] Yoo
TR LT CEsmeonsm
TR 74 MOBE
fTER): 4 AFHEH: [lRRiz -
FIEHC): 4 SEHEV: [hRfz v
101 S
DREILA) @ BRIED ORLF @ ERIG
T S8 W o, FER W0 BE W o
g B
| ERR [ ok [ Fedr [ sud |
a bl A a%+b? kin“a+cos’h a,b a bl A a2+b? kin‘a+cos’b
2.1 0.3 2.1213] 1.65780 8.1 2.3|  8.4202] 1.38461
4.7 4.7)  6.6468] 1.00000 > 7.7 2.7| 8.1597| 1.79382
5.8 9.1 10.7912| 1.11403 6.8 7.1] 9.8311] 0.71275
1.2 12.3] 12.3584| 1.79941 3.2 16.3) 16.6111] 0.69199
o 1 (FFT)

2

1

f={3, 9.10949732073801, 8.04256821819622, 0.380941892044495, -6.69132749216299, -6.7349198
0695517, -0.595938306693562, 4.70968260727719, 3.53553390593273, -2.43145003571863, -6.085
1356747581, -2.63559027698414, 5.0677391917244, 9.31745398255832, 5.5519308557423, -2.8425
2728303621, -8, -5.67090770399218, 0.563113181927043, 3.34634562252514, -0.475538003343329
, -6.44194998196602, -7.25567760685487, -0.689741972191845, 7.77817459305203, 10.451324621
6704, 5.28877337572582, -2.096857/0867 7876, -4.39522689797245, -0.207160949932867, 4.709146
82007863, 3.81796973464787, -3.00000000000002, -9.10949732073802, -8.04256821819621, -0.380
941892044467, 6.691327492163, 6.73491980695516, 0.595938306693545, -4.70968260727719, -3.5
3553390593273, 2.43145003571864, 6.0851356747581, 2.63559027698413, -5.06773919172441, -9.
31745398255832, -5.55193085574229, 2.84252728303621, 8, 5.67090770399218, -0.5631131819270
4, -3.34634562252514, 0.475538003343325, 6.44194998196602, 7.25567760685486, 0.68974197219
1842, -7.77817459305203, -10.4513246216704, -5.2887 7337572582, 2.096857086/ 7876, 4.3952268
9797243, 0.207160949932821, -4.70914682007864, -3.81796973464786}
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x=fft(f)

x={0, 0, 0, 0.500000i, 0, 1.500000, 0, 0, 0, 0, 0, 3.500000i, 0,0, 0,0,0,0,0,0,0,0,0, 0, 0, 0,
0,0000000000000000000000,00,00, -3.500000i,0,00,0,0,1
.500000, O, - 0.500000i, 0, O}

fft'l(x) ={3.000000, 9.109496, 8.042568, 0.380942, -6.691327, -6.734920, -0.595938, 4.709682,
3.535534, -2.431450, -6.085136, -2.635590, 5.067739, 9.317454, 5.551930, -2.842527, -8.00000
0, -5.670907, 0.563113, 3.346345, -0.475538, -6.441950, -7.255677, -0.689742, 7.778174, 10.45
1324, 5.288773, -2.096857, -4.395227, -0.207161, 4.709146, 3.817969, -3.000000, -9.109496, -8
.042568, -0.380942, 6.691327, 6.734920, 0.595938, -4.709682, -3.535534, 2.431450, 6.085136,
2.635590, -5.067739, -9.317454, -5.551930, 2.842527, 8.000000, 5.670907, -0.563113, -3.34634
5, 0.475538, 6.441950, 7.255677, 0.689742, -7.778174, -10.451324, -5.288773, 2.096857, 4.395
227, 0.207161, -4.709146, -3.817969}
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(3)
(4)
()

y (O+2y(t)=e" y(0)=3

y() =0

Loy =ele’t @
d

LY O} £ (0}

£2y(0) 1=2L {y(H)}

i 1
Lletoq

(1)
di D1 2L () = - 2
FLOOI2LE0= @

d
g £ ®O)=sL{y()}-y(0)

y(0)=3 2

s {y(t) }-3+2L {y(t) F%

Llvlt)]

SX-3+2X=———-
s+l
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3s+4
X=—5—
S +3st2
- 3s+4 2 1
partial fract decompose| — . =+
s+3s+2 | st2 s+l
L{y(t —i+_
Oz

£ o= o]

s+2  s+1
ﬁ";"f =17 2 ]
yO=L {s+2 s+1
2 1 3
w1 -t 3t
e e
o {s—|—2 s+1}

y(t):e't+Ze'2t

. 1 -0.105999788000636 = 0.105999788000636
partial_fract decompose = +

2+35-20 $+6.2169905660283  s-3.2169905660283

FaR) AD() AT2a2(0) H/HIM) T4 FSW) ~LT(H)

=1={0) F7 o S B M| [ [ror
HSEEEA) Shift+F7 = | prary %| T :
ExHBIIER) Ctrl+F7 R

BEEH(S) CtrlsShift«E7 & & [ 8o fir| € & F @ & | &
HKIES(V) Fa Ji J E E O I lim |
AR AEE(E) Shift+F8

BLPIER(B)

EIER(D)

EEOBNELU)

EEOAEE(M) v |

~EH [3] . BE 0] @)
ZIETEM(T)
BEGHEE(M)..

SEOES(X) " |

HET(Q) /y

-~ '
A=z —LZIEN
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11_([>2k+1_1+2 1+4 1+6 1+8 1+10 1+12 1+14 1+16 1+18 1+20

e 1?2 P £ 82 & 7P g ¢ I

polynomial_expangH ,(x)) =16x-48x°+12

> ix4-§x3+5x2-5x+1

. 1
polynomlal_expanqL5(x)):-1—20x + 22X 73

9 R 81 5. 243 A 243 & 2187 N 6561 12
27 740”560 4480 T492800 " " 25625600
9 3 81l 5243 A 243 3 2187 11, 6561 13

. . 3 _
taylor_expand(3smx-4sm x,13) =3x- X + 20 % 560 T2280% 292800 % T 25625600 %

taylor_expand sin(3x),13)=3x-—~

8 10-0
k=1
B, 106=0
B
=2 {B,k}=search_name("Bernoulli_const")
4rk
2n+1 B B (1+ 2 ) 1
(2") z( 1) (2n+2-4K) 222 N/ —103692775514337

(2k)| (2n+2-2K)! “ & km*l(ez"k-l)z

1)
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{x,y,2}={0,0,0} XY,z

3 1
{xy}={y.x} X,y
{3 3}={g- 4} 3. 8
)
{x,y,a,s}=fun(t,w,v) fun

f(x)=
9(x)=<

(0090 =100 [ (6000 -G () (6)

Laplace

=
b={0,3,8,0,}

"a" & “"cde'="abcde"
(1,23} & {4567={1,23 4,567
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a={2:3{"/x%+b”" 110,200} {1020}
b={2,3,{"/>+b?" 110,200} { 10,20} }

(fork=1to 100 step 1)
break a=b TRUE

3.14
basic.lbr T

T 1000

object _type
object_type(123)="number"
object_type("abc")="string"

object_type(sin)="system_function"
object_type(caking gamma)="user_function”

object_type(s)="others" =
e )y ( ) 1000
400 500
400 (400 )
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decompose_string

decompose_string("J,(5)")={53, "2", "5"}

decompose_string("Y 5(5)")={54, "3", "5"}
decompose_string(" H (21 )(5) ) ={55, "2", "5"}
decompose_string(" H (32)(6) ) ={56, "3", "6"}
decompose_string( "l ,(6)")={57, "2", "6"}
decompose_string("K,(3)")={58, "1", "3"}
decompose_string("H ,(7)")={76, "4", " 7'}

Si(2) SIN

Si( )=Jz%dt

0

i(p)os D2
(D=2 one1) (2ne1).

1000

calking_Si
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[calking Sif = )
d=x
q:IE
u=d
W for k=2 to 10000000 step 2 )
V=)
dq

D

=t —
EA T

[break w=u
rELUrT ¥

calking_Si(3.6021)=1.82168950512375

50
calking_Si(3.6021)=1.8216895051237469783148246102816317118844758528315

200

calking_Si(3.6021)=1.8216895051237469783148246102816317118844758528315491412497783108572
2478991108093867357214968942804546448909738614554544874476659422713533243029619336549
33490973944469761953712879284623020584807732359

100

calking_Si(3.6021+0.792i)=1.889715177242137395127357758628981086971171583625158154753126
407381310019036957310538281301338048671 - 0.11824579376752878542702952052773517577128
10851066245154162395968038817271286044782520568769455519376i

calking Si({1.2, 4.5, 7.2, 8.1, 0.34, 10.4})={1.1080471990137185899, 1.6541404143792439837, 1.475
089055447246115, 1.5863666224636431063, 0.33782400214611531729, 1.6311171372314991051}

A calking_Si({1.2, 4.5, 7.2, 8.1, 0.34, 10.4}) +3.6
2
22157156, 2.42975523468719, 2.09061314584259, 2.43857598162435}

={2.32631910449216, 2.44306695109826, 2.407266
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